
  

Measure Twiss and Coupling at IP

Beam

Figure  1:  Schematic of the synchrotron from an IP through two of the triplet
quadrupoles and back to the IP. Thus the beam transfer matrix is: T = T
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[x , x ,x ,y ,y ,y , a , b ,c ,d ]10 parameters:

The eigen-tunes from the transfer matrix:

The ΔQ
min

 from the transfer matrix:

BBQ measures the eigen-tunes and the ΔQ
min

. Using the above equations,

we solve for the 10 parameters that describe the transfer matrix T.



  



  



  

First fit using all six
quadrupoles. β* is
quite large as well
as α* is far from
zero.

Yellow IP8

OptiCalc:

β
x
 = 0.842m

α
x
 = -0.0147

β
y
 = 0.918m

α
y
 = 0.0055



  

The scalloping of the
tunes occurred during
the tweaking of the
Q2 quadrupoles.
I removed Q2s from
the fitting.

OptiCalc:

β
x
 = 0.842m

α
x
 = -0.0147

β
y
 = 0.918m

α
y
 = 0.0055

Yellow IP8



  

An example using the
model of the Blue ring
from MADX at IP6.
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